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Part A Instructions: Choose the option that completes the sentence or answers the question.  

 

1. A polar coordinate is represented by:  

 

a. 𝑃(𝑥, 𝑦) 

b. 𝑃(𝑟, 𝜃) 

c. 𝑃(𝑧, 𝑡)  
d. None of these 

 

2. In re-writing polar coordinates, the factor 𝒌𝝅 can be:  

 

a. Added 

b. Subtracted 

c. Both a and b 

d. None of these 

 

3. When adding the factor 𝒌𝝅, if 𝒌 is positive, then 𝒓 becomes: 

  

a. negative 

b. positive 

c. 0 

d. None of these 
 

4. The distance between two polar coordinates is given by: 

 

a. 𝑃1𝑃2 =  √𝑟12 + 𝑟22 − 2𝑟1𝑟2𝑐𝑜𝑠⁡(𝜃2 − 𝜃1) 

b. 𝑃1𝑃2 =  √𝑟12 − 𝑟22 − 2𝑟1𝑟2𝑐𝑜𝑠⁡(𝜃2 − 𝜃1) 

c. 𝑃1𝑃2 =  √𝑟12 + 𝑟22 − 2𝑟1𝑟2𝑐𝑜𝑠⁡(𝜃2 + 𝜃1) 

d. None of these 

 

Part B Instructions: Answer the question below.  

5. Use distance formula to find the distance between (𝟑,
𝝅

𝟐
) and (𝟖,

𝟒𝝅

𝟑
). 
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Answers 

Part A Instructions: Choose the option that completes the sentence or answers the question.  

 

1. A polar coordinate is represented by:  

 

a. 𝑃(𝑥, 𝑦) 

b. 𝑃(𝑟, 𝜃) 

c. 𝑃(𝑧, 𝑡)  
d. None of these 

 

2. In re-writing polar coordinates, the factor 𝒌𝝅 can be:  

 

a. Added 

b. Subtracted 

c. Both a and b 

d. None of these 

 

3. When adding the factor 𝒌𝝅, if 𝒌 is positive, then 𝒓 becomes: 

  

a. negative 

b. positive 

c. 0 

d. None of these 
 

4. The distance between two polar coordinates is given by: 

 

a. 𝑃1𝑃2 =  √𝑟1
2 + 𝑟22 − 2𝑟1𝑟2𝑐𝑜𝑠⁡(𝜃2 − 𝜃1) 

b. 𝑃1𝑃2 =  √𝑟12 − 𝑟22 − 2𝑟1𝑟2𝑐𝑜𝑠⁡(𝜃2 − 𝜃1) 

c. 𝑃1𝑃2 =  √𝑟12 + 𝑟22 − 2𝑟1𝑟2𝑐𝑜𝑠⁡(𝜃2 + 𝜃1) 

d. None of these 

 

Part B Instructions: Answer the question below.  

5. Use distance formula to find the distance between (𝟑,
𝝅

𝟐
) and (𝟖,

𝟒𝝅

𝟑
). 

 

    Let 𝑷𝟏(𝒓𝟏, 𝜽𝟏) = 𝑷𝟏 (𝟑,
𝝅

𝟐
) and 𝑷𝟐 (𝟖,

𝟒𝝅

𝟑
), then: 

𝑷𝟏𝑷𝟐 = √𝟑𝟐 + 𝟖𝟐 − 𝟐(𝟑)(𝟖)𝐜𝐨 𝐬 (
𝟒𝝅

𝟑
−

𝝅

𝟐
)   

 

𝑷𝟏𝑷𝟐 = √𝟗 + 𝟔𝟒 − 𝟒𝟖𝐜𝐨 𝐬 (
𝟓𝝅

𝟔
)  

 

         →  𝑷𝟏𝑷𝟐 = 𝟏𝟎. 𝟕𝟎 


